

The Taylor Series Coefficients of the Jacobi Elliptic Functions

*“Le calcul des coefficients par les dérivées successives est
impraticable.” [Briot and Bouquet 1875]*

Gregynog 23rd May 2000

Francis Clarke

Department of Mathematics

University of Wales Swansea

<http://www-maths.swan.ac.uk/staff/fwc>

1. The Jacobi Elliptic Functions
2. A Formal Definition — The Dumont-Schett Method
3. Myung's Method
4. Hermite's Method

$$\int_0^{\operatorname{sn}(u,k)} \frac{dt}{\sqrt{(1-t^2)(1-k^2t^2)}} = u \quad \text{just like} \quad \int_0^{\sin(u)} \frac{dt}{\sqrt{1-t^2}} = u$$

So $\operatorname{sn}(u, 0) = \sin(u)$ and $\operatorname{sn}(u, 1) = \tanh(u)$

$$\frac{1}{\sqrt{(1-t^2)(1-k^2t^2)}} = \sum_{n \geq 0} k^n P_n\left(\frac{k^2+1}{2k}\right) t^{2n},$$

where $P_n(x)$ is the Legendre polynomial

So Taylor series for $\operatorname{sn}(u, k)$ is the inverse series (Lagrange inversion) of

$$\sum_{n \geq 0} k^n P_n\left(\frac{k^2+1}{2k}\right) \frac{t^{2n+1}}{2n+1}$$

$$\begin{aligned} \operatorname{sn}(u, k) = & u - (1 + k^2) \frac{u^3}{3!} + (1 + 14k^2 + k^4) \frac{u^5}{5!} \\ & - (1 + 135k^2 + 135k^4 + k^6) \frac{u^7}{7!} + \dots \end{aligned}$$

$$\operatorname{cn}(u, k) = \sqrt{1 - \operatorname{sn}^2(u, k)} \quad \text{and} \quad \operatorname{dn}(u, k) = \sqrt{1 - k^2 \operatorname{sn}^2(u, k)}$$

$$\operatorname{cn}(u, k) = 1 - \frac{u^2}{2!} + (1 + 4k^2) \frac{u^4}{4!} - (1 + 44k^2 + 16k^4) \frac{u^6}{6!} + \dots,$$

$$\operatorname{dn}(u, k) = 1 - k^2 \frac{u^2}{2!} + (4k^2 + k^4) \frac{u^4}{4!} - (16k^2 + 44k^4 + k^6) \frac{u^6}{6!} - \dots.$$

Dumont's 3-parameter functions (1981)

$\mathfrak{D} = yz \frac{\partial}{\partial x} + xz \frac{\partial}{\partial y} + xy \frac{\partial}{\partial z}$ is a derivation, so $e^{u\mathfrak{D}}$ is multiplicative

$$\begin{aligned} X &= X(u; x, y, z) = e^{u\mathfrak{D}} x = \sum_{n \geq 0} X_n(x, y, z) \frac{u^n}{n!} \\ &= x + yzu + x(y^2 + z^2) \frac{u}{2} + yz(4x^2 + y^2 + z^2) \frac{u^3}{6} + \dots \end{aligned}$$

$$\mathfrak{D} X_n = X_{n+1}$$

X_n is a homogeneous integer polynomial in x, y, z of degree $n + 1$

Similarly $Y = e^{u\mathfrak{D}} y$ and $Z = e^{u\mathfrak{D}} z$

$$\text{Let } X' = \frac{\partial}{\partial u} X$$

The key calculation

$$X' = \frac{\partial}{\partial u} X = \frac{\partial}{\partial u} e^{u\mathfrak{D}} x = e^{u\mathfrak{D}} \mathfrak{D}x = e^{u\mathfrak{D}} yz = (e^{u\mathfrak{D}} y)(e^{u\mathfrak{D}} z) = YZ$$

Similarly $Y' = XZ$ and $Z' = XY$

Consequences

Chain rule and $X' = YZ$ imply

$$(X^2)' = 2XYZ$$

Similarly $(Y^2)' = 2XYZ$ and $(Z^2)' = 2XYZ$

Thus $X^2 - Y^2$ is constant, i.e., independent of u

$$X^2 - Y^2 = x^2 - y^2, \quad X^2 - Z^2 = x^2 - z^2, \quad \text{and} \quad Y^2 - Z^2 = y^2 - z^2$$

Now

$$(X')^2 = Y^2 Z^2 = (x^2 - y^2 - X^2)(x^2 - z^2 - X^2)$$

Let $x = 0$, $y = i$ and $z = ik$, then

$$\frac{X'}{\sqrt{(1 - X^2)(k^2 - X^2)}} = 1,$$

so $X(u; 0, i, ik) = -k \operatorname{sn}(u, k)$

Similarly

$$Y(u; 0, i, ik) = i \operatorname{dn}(u, k)$$

$$Z(u; 0, i, ik) = ik \operatorname{cn}(u, k)$$

The identity $X' = YZ$ leads to

$$X_{n+1} = \sum_{j=0}^n \binom{n}{j} Y_j Z_{n-j},$$

and, using the symmetry between X , Y and Z , we obtain a quadratic, unbounded recursion for the coefficients

Better

The definition of \mathfrak{D} and $\mathfrak{D}X_n = X_{n+1}$ give a three-term, linear recurrence for the coefficients, hence we can obtain the expansions of sn , cn and dn

Myung (1998)

Let

$$S = \alpha X + \beta Y + \gamma Z$$

Since $X' = YZ$, $Y' = XZ$ and $Z' = XY$,

$$S' = \alpha YZ + \beta XZ + \gamma XY$$

On the other hand

$$\begin{aligned} S^2 &= 2\beta\gamma YZ + 2\alpha\gamma XZ + 2\alpha\beta XY \\ &\quad + \alpha^2 X^2 + \beta^2 Y^2 + \gamma^2 Z^2 \end{aligned}$$

Assume that α, β, γ commute with each other and with x, y, z , and that

$$\alpha^2 = \beta^2 = \gamma^2 = 0, \quad \alpha\beta = \frac{1}{2}\gamma, \quad \alpha\gamma = \frac{1}{2}\beta, \quad \beta\gamma = \frac{1}{2}\alpha,$$

then

$$S' = S^2$$

If $S = \sum_{n \geq 0} S_n \frac{u^n}{n!}$ so that $S_n = \alpha X_n + \beta Y_n + \gamma Z_n$, this differential equation

corresponds to the recursion

$$S_{n+1} = \sum_{j=0}^n \binom{n}{j} S_j S_{n-j}$$

Since $S_0 = \alpha x + \beta y + \gamma z$,

$$\begin{aligned} S_1 = S_0^2 &= 2\alpha\beta xy + 2\alpha\gamma xz + 2\beta\gamma yz \\ &= \alpha yz + \beta xz + \gamma xy \end{aligned}$$

$$\begin{aligned} S_2 = 2S_0S_1 &= 2\alpha\beta(x^2z + y^2z) + 2\alpha\gamma(x^2y + yz^2) + 2\beta\gamma(xy^2 + xz^2) \\ &= \alpha x(y^2 + z^2) + \beta y(x^2 + z^2) + \gamma z(x^2 + y^2) \end{aligned}$$

$$S_3 = 2S_0S_2 + 2S_1^2 = \text{exercise}$$

The coefficient of α is X , etc.

Problem?

Letting $\delta = \beta + \gamma$, we have $\alpha\delta = \frac{1}{2}\delta$ so that

$$\alpha(\alpha\delta) = \frac{1}{4}\delta \quad \text{but} \quad (\alpha\alpha)\delta = 0$$

A non-associative algebra

Hermite's observation (1863)

$$\begin{aligned} \operatorname{cn}(u, k) = & 1 - \frac{u^2}{2!} + (1 + 4k^2) \frac{u^4}{4!} - (1 + 44k^2 + 16k^4) \frac{u^6}{6!} \\ & + (1 + 408k^2 + 912k^4 + 64k^6) \frac{u^8}{8!} + \dots \end{aligned}$$

Multiply coefficients by k and substitute $k = \cos \theta$:

$$k(1 + 4k^2) = 4 \cos \theta + \cos 3\theta$$

$$k(1 + 44k^2 + 16k^4) = 44 \cos \theta + 16 \cos 3\theta + \cos 5\theta$$

$$k(1 + 408k^2 + 912k^4 + 64k^6) = 912 \cos \theta + 408 \cos 3\theta + 64 \cos 5\theta + \cos 7\theta$$

The Landen transformation (1775)

Substituting

$$z = \frac{b+c}{2}, \quad y = \sqrt{\frac{a^2 + bc + \sqrt{(b^2 - a^2)(c^2 - a^2)}}{2}}, \quad x = \frac{az}{y}$$

in $\frac{XY}{Z}$ gives $X(u; a, b, c)$

If $a = 0$,

$$\frac{XY}{Z}\left(u; 0, \sqrt{bc}, \frac{b+c}{2}\right) = X(u; 0, b, c)$$

A consequence of the Landen transformation is

$$e^{i\theta} \operatorname{cn}(ue^{-i\theta}, e^{2i\theta}) + e^{-i\theta} \operatorname{cn}(ue^{i\theta}, e^{-2i\theta}) = 2 \cos \theta \operatorname{cn}(u, \cos \theta)$$

With

$$\operatorname{cn}(u, k) = \sum_{n,j} (-1)^n C_{n,j} k^{2j} \frac{u^{2n}}{(2n)!},$$

$$\sum_{q=0}^{n-1} C_{n,q} \cos((2n - 4q - 1)\theta) = \sum_{p=0}^{n-1} C_{n,p} \cos^{2p+1} \theta$$

Thus linear equations for the $C_{n,j}$

References

- [1] Désiré André, *Développements en séries des fonctions elliptiques et de leurs puissances*, Ann. Sci. École Norm. Sup. (2) **6** (1877), 265–328.
- [2] Charles Briot and Claude Bouquet, *Les fonctions elliptiques*, 2nd ed., Gauthier-Villars, Paris, 1875.
- [3] Leonard Carlitz, *Congruences for the coefficients of the Jacobi elliptic functions*, Duke Math. J. **16** (1949), 297–302.
- [4] _____, *Congruences connected with the power series expansions of the Jacobi elliptic functions*, Duke Math. J. **20** (1953), 1–12.
- [5] _____, *Congruences (mod 2^r) for the coefficients of the Jacobi elliptic functions*, Math. Z. **72** (1960), 307–318.
- [6] Francis Clarke and Keith Johnson, *Cooperations in elliptic homology*, Adams Memorial Symposium on Algebraic Topology, Volume 2 (N. Ray and G. Walker,

eds.), London Math. Society Lecture Note Series No. 176, Cambridge Univ. Press, 1992, pp. 131–143.

- [7] Francis Clarke, *Series for Elliptic Functions*, submitted to *The Mathematica Journal*, December 1997.
- [8] Dominique Dumont, *A combinatorial interpretation for the Schett recurrence on the Jacobian elliptic functions*, *Math. Comp.* **33** (1979), 1293–1297.
- [9] Dominique Dumont, *Une approche combinatoire des fonctions elliptiques de Jacobi*, *Adv. in Math.* **41** (1981), 1–39.
- [10] Phillippe Flajolet, *Combinatorial aspects of continued fractions*, *Discrete Math.* **32** (1980), 125–161.
- [11] Phillippe Flajolet and Jean Françon, *Elliptic functions, continued fractions and doubled permutations*, *European J. Combinatorics* **10** (1989), 235–241.
- [12] Arne Fransén, *Conjectures on the Taylor series expansion coefficients of the Jacobian elliptic function $\operatorname{sn}(x, k)$* , *Math. Comp.* **37** (1981), 475–494.

- [13] Christoph Gudermann, *Theorie der Modular-Functionen und der Modular-Integrale, part 10*, J. Reine Angew. Math. **19** (1839), 45–83.
- [14] Charles Hermite, *Remarque sur le développement de $\cos am x$* , J. Math. Pures Appl. **9** (1864), 289–295; also Comptes Rendus de l'Académie des Sciences **57**, (1863) 613–618; and Oeuvres de Charles Hermite, vol. 2, pp. 264–270, Gauthiers-Villars, Paris, 1908.
- [15] S. C. Mitra, *On the expansion of the Weierstrassian and Jacobian elliptic functions in powers of the argument*, Bull. Calcutta Math. Soc. **17** (1929), 159–172.
- [16] Hyo Chul Myung, *Note on the Jacobi elliptic functions*, J. Algebra **200** (1998), 134–140.
- [17] Alois Schett, *Properties of the Taylor series expansion coefficients of the Jacobian elliptic functions*, Math. Comp. **30** (1976), 143–147.
- [18] _____, *Corrigendum to A. Schett, Properties of the Taylor series expansion*

coefficients of the Jacobian elliptic functions, *Math. Comp.* **30** (1976), 143–147,
Math. Comp. **31** (1977), 330.

- [19] _____, *Recurrence formula of the Taylor series expansion coefficients of the Jacobian elliptic functions*, *Math. Comp.* **31** (1977), 1003–1005.
- [20] Jules Tannery and Jules Molk, *Éléments de la théorie des fonctions elliptiques, Tome II, Calcul différentiel (Ile partie)*, Gauthier-Villars, Paris, 1896; republished Chelsea, New York, 1972.
- [21] Gérard Viennot, *Une interprétation combinatoire des coefficients des développements en série entière des fonctions elliptiques de Jacobi*, *J. Combinatorial Theory, Series A* **29** (1980), 121–133.
- [22] Staffan Wrigge, *Calculation of the Taylor series expansion coefficients of the Jacobian elliptic function $\operatorname{sn}(x, k)$* , *Math. Comp.* **36** (1981), 555–564.
- [23] _____, *A note on the Taylor series expansion coefficients of the Jacobian elliptic function $\operatorname{sn}(x, k)$* , *Math. Comp.* **37** (1981), 495–497.